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Capacitor-free leaky-integration for an artificial neuron
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Oo0oooooao O 1. (a) A train of 200 Vg-pulses of 3 V-height, 2 ms-width, and 4 ms-period causes the increase of Ip
of our SrTiO3 FET device, indicative of the integration function of neuron. This is done by a single FET
gooooooao without an external capacitor. (b) A train of the same 200 pulses but with a period of 40 ms shows weaker
00o00o0o00on integration. (c) For the period of 1s, no integration happens. This means the integration is ‘leaky’. (d)
Longer width pulse manifests the increase of Ip with negligible /g during the pulse, though the latter ac-
O0og companied with the large displacement current. (e) The leaky-integration function originates in the volatile

shift of Vi, with <1 s life time. The value of Vp is fixed to 3 V for all the measurements.
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